ECONOMIC ADMINISTRATION AND
FINANCIAL MANAGEMENT

Second Paper
(Economic Environment in India)
OBJECTIVE PART-I
Maximum marks : 40
1. () What is meant-by Finance Function?
forg =T @ AT T A F ? |
(i) What do you mean by Financial Statements?
Feeffe el | 3179 397 993 € 2
(i) How is Current Ratio Calculated?
<Te] AT T TUAl HH hl Al g 2
(iv) Explain Fund Flow Statement.
FY yarg faao =t anggd |
(v) What is Break-even Point?

oy fa=eg fag s & 2

i i Characteristics of Financial Forecagy,
{(vi) Give two it ' ting

i ive two items of Debt Funds.
. %ﬁaﬁuaﬁa’rﬁw?l i NetWorkd
isti i tween Gross ana et Workin .
e ggﬁ%;t:mﬁa@ﬁ e D APty
(ix) What is Safety Stock?
T T € N
(x) What is meant by Proposed Dividend ?
e w1 A € 2
2. (i) 1f Current Ratio is 2.4:1 and Net Working (.:apita'ljs
Rs. 42,000, find out the value of current agset ng
current liabilities. '
afg =], A 2411 % G’Fn'{ @W T‘E‘ﬁ’t 42,000 m%
3 ey T @ e, A 1 A R
(i) How is Profit From Operations computated?
ofiEre § ™ B oA R TER S R

(iii) If sales Rs. 50,000 and P/V Ratio 20%, caleyly
contribution. ' :

i farsr 50,000 T IR TH HIH I 20%,
=} TR i |
(iv) Write four advantages of adequate working capital.
T e gt % 9 ey At
(v} Explain Bail-Out Pay Back Period Method.
WIS Y-u ety fafy =i angRd |
DESCRIPTIVE PART-I1 .
Maximum marks : 60
3. Following is the Balance Sheet of Narang Limited:
e fafa faam i fefpe @ 31—
' Balance Sheet
_ As on March 31, 2011 ,
Liabilities (i) o Amount (u"mﬂﬂ
Share Capital siw g 1,00000
Reserve and Surp1u5 H9g 'u:q ey 291000
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Debentures sm-ys

Creditors SR ?‘: 3‘ ,,”
B/P 20,000
Other Liabilities a1 @ifies “,)'gg::
Total 3 '
A ‘ 2,10,000
ssets (umﬁ-m’l’) "~ Amount (lﬁnfh)
Goodwill =nfa 60,000
Plant and Machinery ®iie Tg ) 75'00()
Stock &Y 4(}. 000
Debtors 27gR 22' 500

Cash in hand @™ g

Miscellaneous assets fafay gmfisi iggg
Total g 2,10,000
Sales for the Year 99 & <k fama 2,00,000
Cost of goods sold 99 73 U/a =} &v@ 1,20,000

From the above data, you are required to calculate the

following ratios :

| SRt STTHEl |, FTYH] TG ST 1 10 FW ) HE

(i) Current Ratio =] JUd 4
(ii) Quick Ratio W& 39 4
(iii) Inventory Turnover Ratio 4 3nad 3 4
(iv) Average Collection Period 3ftwa geht wafy 4
(v) Proprietor’s Liabilities Ratio T i aifwm 4

4. What is meant by Fund Flow Statement ? How is it

prepared? Explain in detail.

aﬁwmﬁamﬁﬂaﬁaﬁ%-?ﬂafmmﬂmmm%?

forar @ TR | |
Section-B (WUS-9) o
. " g :
5. Write short notes on any two of the foflowin
firtferfiad 8 | fel @ WA ﬁwﬁw fafel
(i) Profit Volume Ratio (P/V Ratio)
(if) Margin of Safety i g

o 7 w10

{if)

(i)

(iv)

(v)

(vii)

(iii) Equity Vs Debt Funds ¥5al S FUMTq Sy 10
The following informations have been taken from the
accounting books of Aakash Ganga Enterprises, o,
the basis of the following, estimate the working capita)
requirements by operating-cycle method :

frAfafEa Yaand SR T TS O [ R o
T ¥ f smR W efEen W% o @ s 9o 5y
ST W STHA T

Estimated sales 2,000 units @ 5 per unit.

gt st 2,000 3T 5 €92 9fT T WA

The production and sales volume coincide and will be

- carried on evenly throughout the year.

Ieare AR fam =1 e § W § S 96 Th dord @l g1

IR i A R Agata ®1 T i —

The production cost is estimated as below

I AN e YER S &1 18 8—

(i) Material w9yt Rs. 2.50 per unit
(ii) Labour ##H Rs. 1.00 per unit
(iif) Overheads 3uft=ra Rs. 1,750

35 days of supply of raw material and 15 days supply
of finished goods are kept as inventory.

Y % w9 1 35 fE =2 me Y 9 ofin 1S R o
oI 1 gfd @t e g

Customers are given 50 days credit facility and 40 days
credit facility in received from the suppliers.

TTEH il Soﬁ?ﬁwgﬁiﬂﬂﬁﬁﬁiﬁtiﬁﬁhﬁﬁm
e =t v e W gt &1

Production peried is 13 days and all the raw materials
are issued at the beginning of every o;ﬁeraﬁng cycle.
IeIe A 13 e | o T = e el o
¥ e & i fo v 3

Twenty-fiv~ percent of average working capital is kept
as cash for contingencies,



(1)

(1)
(2)

Frea Friviie gsit 1 25 fawm e sTwRferFme! & fag e
ST R
" Section-C (@US-H)

. A B C Pipes Limited uses about 75,000 valves per year

and the usage is fairly constant at 6,250 per month.
The valves cost Rs. 1.50 per unit when bought is
quantities and the carrying cost is estimated to be 20
percent of average inventory investment on the annual
basis. The cost of place an order and process the
delivery is Rs. 18. It takes 45 days to receive delivery
from the date of an order and a safety stock of 3,200
values is desired.

You ‘are required to determine :

The most economical order quantity and number of

orders. 10

The Order Point . 10

A B C vz ffide whwad 75,000 aTedl il waN et & AR
SR 6,250 aed eredEr ITAT oy wa ¥ 9 T 9
=7 SITd 1.50 T & v ged F4 TR I ¥ T va-eE B
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Write short notes on any two of the following :

(i) Analysis and control of Receivables 10
(i) Decision Tree Method 10
(iii) Walter's Model of Dividend Policy 10
Pt 3 @ el @1 el feforal fafed—

(1) wret & Fagerso wE 13

(2) Frofa-gx fafy :0

(3) wmate Hifa 1 SR I



